SOT23 NPN SILICON PLANAR

MEDIUM POWER TRANSISTOR FMMT491
ISSUE 3 - OCTOBER 1995 0
FEATURES
* Low equivalent on-resistance; Rgg (g, 210mQ at 1A
E
Cc
COMPLEMENTARY TYPE - FMMT591 B
PARTMARKING DETAIL - 491
SOT23
ABSOLUTE MAXIMUM RATINGS.
PARAMETER SYMBOL VALUE UNIT
Collector-Base Voltage Vero 80 Vv
Collector-Emitter Voltage Veeo 60 \
Emitter-Base Voltage VEgo 5 \
Continuous Collector Current Ic A
Peak Pulse Current lem 2 A
Power Dissipation at T,,,~25°C Piot 500 mwW
Operating and Storage Temperature Range TiTeg -565 to +150 °C
ELECTRICAL CHARACTERISTICS (at Typ = 25°C).
PARAMETER SYMBOL | MIN. MAX. UNIT CONDITIONS.
Collector-Base Vigriceo | 80 \Y 1=100pA
Breakdown Voltage
Collector-Emitter Veeosus) | 60 \Y l=10mA*
Breakdown Voltage
Emitter-Base Viereso | B \Y Ie=100uA
Breakdown Voltage
Collector Cut-Off Current lcgo 100 nA V=60V
Collector Cut-Off Current Ices 100 nA Vees=60V
Emitter Cut-Off Current lego 100 nA V=4V
Collector-Emitter VeE(sat) 0.25 \Y 1=500mA, Iz=50mA*
Saturation Voltage 0.50 \Y I=1A, Ig=100mA*
Base-Emitter VaE(sat) 1.1 \ I=1A, Ig=100mA*
Saturation Voltage
Base-Emitter VBE(on) 1.0 \ Ic=1A, V=bV*
Turn On Voltage
Static Forward Current hee 100 l=TmA, V=5V
Transfer Ratio 100 300 1=600mMA, V=5V*
80 I=1A, Ve=5V*
30 1=2A, V=bV*
Transition Frequency fr 150 MHz 1=60mA, V=10V
f=100MHz
Collector-Base Cobo 10 pF Veg=10V, f=1MHz
Breakdown Voltage

*Measured under pulsed conditions. Pulse width=300ps. Duty cycle < 2%
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FMMT491

TYPICAL CHARACTERISTICS
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